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® KM 5.6 5 TFT(640%480) /R BESHMINIASH, LrAAEH. F%.
® AT IR IR 45 R DL EXCEL k% fIA% sRAF G 7E U B

e i U AT AT

® R DDS B E T A REAR, PR, faE. 4. RR M IESZ .
o F[EmE LAt RFRTE], A& RS [F I SR

®  FUAFTFRE IOy ik s . Eg0r .

o AL RATEIARAE, SCRFEM R MG #RAE .

®  CSURFE PRI, TR R R KA

o HAEXUNLEANIA, MZEH 50 Hzy 60 Hz.

o \MEAIERE R, ORI TR E RO, RN R R .
o ERMMEIER IR, A AR R

®  RBESCRUEHRAE S, &R E R

o IEHME/NIPER 0. L uA, B EFE /NP 0.001 nA.

® LM BALHL, FISCRRERSHETIAE

® FRfic PLC 21, RS232 1, IGMC LAN #2110, RS485 #11. USB .
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AC/DC/IR/GR

RRMIE. ERiE. @5EHE. ZtEE (UE—)

0.050kV ~5.000kV fi#tfrEE: 1V volts/Step

ERARIHINER

100VA

RARERT

20mA

IR L PRIRE

0.1TuA ~20.00mA

IRFEIR MRRIRE

0.1TuA - 19.99 mA

ZEhi= v

200uA. 2mA. 20mA (BEE1Y)

R

50Hz, 60Hz

MBS E)

0.0s, 0.3s~999.9s O=3ELEM

E1[11EE)]

0.0s ~999.9s O=(EIFBRTEIR

EFHRTIE]

0.0s, 0.3s~999.9s O=FEE_EFATER

i)

0.0s, 0.35~999.9s O0=FEJE FF&AJIAEIR

EBSMoTIal A

(0.0-999.9)f» 0=Disable

(0.050-5.000)kV

BE:  t(1%+0.2%HEFE)

(0.001-20.00)mA

200uA #4379 0.TuA, 2mA 1453 0.001mA, 20mA 73 0.01mA
YERE: +(1%+0.5% RS 2FR)

(0.0-999.9) % fEFE: 017, BEE: +1%+0.27#

RNz E

B EIRE

F5 0-9 0=X

0.050kV ~ 6.000kV  fEHFE: 1V

IBEEI L PRIRE

SeE: 0.001uA - 10.00 mA

iRt T BRIRE

SEE: 0.0017 mA - 9.99 mA

ZEhi= v

2uA. 20uA, 200uA, 2mA. 10mA (EzHY)

FER

(0.050-6.000)kV  f#fFE: 1V
BE: +(1%+0.2%#%HEFE)

FER

2UA 79 0.001uA, 20uA 5 0.01uA, 200uA #73 0.1uA,
2mA 17 0.001TmA, 10mA J5 0.01TmA

EFHRTIE]

EhERT(A)

MBS E)

0.35~999.9s O=E8[E_EFHATiEI%
0.35~999.9s 0=FEB[% FEEAIEIX
0.3s ~999.9s 0=3Z2Eis,




. &S

[E]BRRTE]
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MHBERE
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FEPR TRRIZE
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BIHFEIIRE

FApE ERRIRTE

S2hineS
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0.0s ~999.9s O=[alPRATAIR

(0.0-999.9)F> fRATEE: 0.17), BEE: +1%+0.27

5 0-9 0=x

0.050kV ~2.500kV  fEHTE: 1V

1MQ-50000MQ

0-9999MQ

0.0s, 0.3s~999.9s O=iE&zM

0.0s~999.9s O=/aIFRRT IR

0.35~999.9s O=EBJE£ bFHAdiEIR

0.100kV~0.300kV:
0.301kV~0.500kV:

0.501kV~1.500kV:

1.501kV~2.500kV:

1.000MQ~999.9MQ + (5%+2 M),
1.000MQ~999.9MQ + (5%+2 M),
1.000GQ~5.00GQ + (10%+2 ),

1.000MQ~999.9MQ + (5%+2 M),
1.000GQ~9.999GQ + (10%+2 ),
10.00GQ~50.00GQ + (15%+2 7)),
5.000MQ~999.9MQ + (5%+2 ),
1.000GQ~50.00GQ £ (10%+2 4>5F)

TMQ ~9.999MQ5 0.001MQ, 10MQ ~99.99MQJ5 0.01TMQ, 100MQ ~999.9MQJ5 0.1MQ

AT :

1000MQ ~9999MQ3 TMQ, 10.00GQ ~ 50.00GQg 10MQ

(0.0-999.9)F

AT 0.1%, BEE: £1%+02%)

3.00A ~ 32.00A

SBEl: (10.0~510.00mQ fEHTE: 0.1 mQ
Rset=(32A/Iset) x 150.0mQ

(3.00~32.00)A
BE:  £(1%+0.2A)

(0.0 ~510)mOfEHTE: 0.1 mQ
BE: +(1%+2 mQ)

0.0s, 0.35~999.9s O=1ELMS

0.0s ~999.9s O=[alpRAa)R




